Name:
. IONS AND ISOTOPES
Period and Group:
Isotopes Definition:
Naming Isotopes Protons i Isotopes of Beryllium
Chemical Symbols of Isotopes II
lH 2H X
Hydrogen | Hydrogen2  Hydrogen 3 B BerilliiGiis ’B Biwslliuin g
f ~rd _—_— '.J i b k
Ip+0On=1 1p+In=2 1p+2n=3 4p+4n=8 4p+5n=9
What is the L L What is the
Name of the Isotope? N- N Name of the Isotope?
Mass of this Atom Mass of this Atom
What is the Chemical Expected Expected What is the Chemical
Symbol of the Isotope? N N Symbol of the Isotope?
Is this atom and Is this atom and
isotope? isotope?
Ions and Neutral Atoms I Definition:
Neutral Atoms Lons
P Positive and
attrac Sp negative
@ — fons artract
each orher,
_ p= _p= e .
___E Expected -E ( ) __E Expected —E ( ) ected -]
e e T ?E E)lip-ected —I;ZE i—) TE E)l()p— ted EEi )

What is the Chemical

P- P-

2 _ . .

Symbol of the Ton? What is the Chemical
E- E- Symbol of the Ion?
= O =
0
Is this atom Is this atom
and ion? and ion?
Electrons Orbits Electrons will want fill up inner orbits first to get as close to the nucleus as possible.
S T They also want to stay as far away {rom each other as possible.
. : . The # of elements End of a row
3 . AL #rows =#o X y g
Opposites Like charges errer;;}' v ,;_C ina row = # of means a full

attract repel electrons in a level. energy level.
electron 2 electrons = Fongrry 1
idiinn Istlevel —»| | Periodic Table of Elements 3
s 3| 4 s[e[7]a]eff 0
lithium lithium Ind level —| [ | g2 Blc|n|olfF(]ne
, 1 (Y2 1 [s]w]7
3rd level _( Na | Jig Y I I I R Y
20 31 3 |93 |2 |25 [[os
4th level _7 K | Ca | Trensiwonfetals | Ga | Ge | As | se | Br ] K
Sodium starts the Neon has 2 filled
) 3rd electron levels. energy levels.
Incorrect! - The electrons will ~ Correct! - Inner orbit v
fill up the inner levels first. is full (with 2); 1st row has 2 elements, so the first

The first level takes 2 electrons. one outer electron. energy level can hold 2 electrons.



1. Isotope A

An average of all the isotopes; the
mass of average atom.

For each of the following isotopes, write the number of protens, neutrens, and electrons.

. = 2 Chromium e “cr Carbon Be lig
2. Atomic mass B. An atom with an equal number of
electrons and protons. # of protons 24 z4 # ofprotons
3. Atomic # C. An atom with more or less electrons H of reutrons ) T Fro——
than protons.
S o 3 # of electronz 24 24 #Hofelectronz
4. Neutral atom D. A variation of an element with a
different number of neutrons. Tt B 7y = Tt B
5. Ion E. Total number of protons and neutrons yySmoT— s e yreT—
in the nucleus.
. Total Positive 24 24 Total Positive Charge
6. Mass # F. Number of protons; determines the Charge
element. Total Negative 24 24 Total Megative Charge
Charge
; Sum of the ch 0 0 Sum of the Ch
7 protons and 10 electrons.  Neutral atom or ion? v o e Eharges 1 ot e Eharges
15 protons and 15 electrons. Neutral atom or ion?
35 protons and 37 electrons. Neutral atom or {on? NANES T e NANE? e T3e
80 protons and 89 electrons. Neutral atom or ion?
# of protons # of protons
Give the element abbreviation and charge.
# of neutrons # of neutrans
5 protons and 2 electrons: Element: B Charge: +3 .
16 protons and 18 electrons: Element: _ Charge: ; # of electrons # of elactrons
35 protons and 36 electrons: Element: ___ Charge: . Atomic # Atomic #
12 protons and 10 electrons: Element: ___ Charge: Atomic #hass Atomic ihass
Total Positive Total Pasitive Charge
What’s wrong with this Charge
. f © 9 <—— neutron Total Megative Total Megative Charge
picture of an atom’ Charge
proton Sum of the Charges Sum of the Charges
«—— electron
From the Bohr
This picture is supposed to diagrams answer
be of a neutral atom. Fix it. the following ques-
tions:
e  How many
Protons?
e  How many
. . . Neutrons?
What is wrong with this e H
picture of an atom? ow many p= p=
Electrons? = =
e  What is the N= N=
Atomic Mass [Eo__ = —
of the given | Atomic Mass Atomic Mass

What is wrong with this
picture of an atom?

Give abbreviations and number of protons

Calcium (Ca) 20 Boron(___ )
Potassium (___ ) Selenium ()
Copper (____) Silver(___)
Zirconium (____ ) Mercury (____)

Which of the following are isotopes?

Element A: 15 protons; 15 electrons: 16 neutrons
Element B: 14 protons: 16 electrons: 14 neutrons
Element C: 15 protons: 18 electrons; 15 neutrons
Element D: 16 protons: 18 electrons; 15 neutrons
Element E: 15 protons: 18 electrons: 14 neutrons

atom?
e TIs this atom
an Isotope?
e What is the

Atomic Symbol

of this Ele-
ment?

*si
(Example)

@ =Electron
. =Neutron

=Proton

Expected Atomic Mass

Isotope?

Isotope?

Atomic Symbol

Expected Atomic Mass

Atomic Symbol

Atomic Mass

Expected Atomic Mass

Isotope?

Atomic Mass
Expected Atomic Mass
Isotope?

Atomic Symbol

Atomic Symbol




